

GCUF

Submitted To: Farhan Khalid

Roll No: 29038

Submitted by: Sami ul Haq

Subject: Math

Semester: 2nd Semester (evening)

Govet College University Fsd

Exercise 9.2

Solve:-

$$(i) \quad \frac{dy}{dx} = \frac{x^2}{y(1+x^3)}$$

$$y dy = \frac{x^2}{(1+x^3)} dx$$
$$\int y dy = \frac{1}{3} \int \frac{3x^2}{1+x^3} dx$$

$$\frac{y^2}{2} = \frac{1}{3} \ln(1+x^3) + C$$

$$\frac{3y^2}{2} = \ln(1+x^3) + C$$

$$3y^2 = 2 \ln(1+x^3) + C$$

(ii)

$$\frac{dy}{dx} + y^2 \sin x$$

$$\frac{dy}{dx} = -y^2 \sin x$$

$$\int \frac{dy}{y^2} = -\int \sin x dx$$

$$\frac{y^{-1}}{-1} = (-\cos x) + C$$

$$-\frac{1}{y} = \cos x + C$$

(iii)

$$\frac{dy}{dx} = 1+x+y^2+xy$$

$$\frac{dy}{dx} = 1(1+x) + y^2(1+x)$$

$$\frac{dy}{dx} = (1+y^2)(1+x)$$

$$\int \frac{dy}{(1+y^2)} = \int (1+x) dx$$

$$\tan^{-1}y = \int 1 + \frac{x^2}{2} + C$$

$$2 \tan^{-1}y = 2x + \frac{x^2}{2} + C$$

(iv) $(xy + 2x + y + 2)dx + (x^2 + 2x)dy = 0$
 $[x(y+2) + 1(y+2)]dx + x(x+2)dy = 0$

$$[(y+2)(y+1)]dx + x(x+2)dy = 0$$

÷ by $x(x+2)(y+2)$

$$\frac{y+1}{x(x+2)} dx + \frac{1}{y+2} dy = 0$$

$$\int \frac{x+1}{x^2+2x} dx + \int \frac{dy}{y+2} = 0$$

$$\frac{1}{2} \int \frac{2x+2}{x^2+2x} dx + \int \frac{dy}{y+2} = 0$$

$$\ln(y+2) = -\frac{1}{2} \ln(x^2+2x) + \ln C$$

$$y+2 = \frac{e}{\sqrt{x^2+2x}} \quad \text{Ans}$$

$$(v) \frac{dy}{dx} = 2x^2 + y - x^2y + xy - 2x - 2$$

$$= 2x^2 - 2x - 2 + y - x^2y^2 + xy$$

$$= 2(x^2 - x - 1)(y - 1 + x^2 - x)$$

$$\frac{dy}{y} = (x^2 - x - 1)(2 - y)$$

$$\frac{dy}{2-y} = (x^2 - x - 1) dx$$

$$-\int \frac{dy}{2-y} = \int (x^2 - x - 1) dx$$

$$-\ln(2-y) = \frac{x^3}{3} - \frac{x^2}{2} - x + C$$

$$6 - \ln(2-y) = \frac{2x^3 - 3x^2 - 6x + 6C}{6}$$

$$6 - \ln(2-y) = 2x^3 - 3x^2 - 6x + 6C$$

$$\ln(2-y)^{-6} = \ln e^{2x^3 - 3x^2 - 6x + 6C}$$

$$(2-y)^{-6} = e^{2x^3 - 3x^2 - 6x + 6C}$$

$$(2-y)^{-6} = C \cdot e^{2x^3 - 3x^2 - 6x}$$

(vi)

$$\operatorname{cosec} y \, dx + \operatorname{sec} x \, dy = 0$$

∴ by $\operatorname{cosec} y \operatorname{sec} x$

$$\frac{1}{\operatorname{sec} x} dx + \frac{dy}{\operatorname{cosec} y} = 0$$

$$\int \cos x \, dx + \int \sin y \, dy = \int 0 \, dx$$

$$\sin x - \cos y = C$$

(vii)

$$y(1+x)dx + x(1+y)dy = 0$$

$$\div \text{ by } xy$$

$$\frac{1+x}{x} dx + \frac{1+y}{y} dy = 0$$

$$\int \left(\frac{1}{x} + x\right) dx + \int \left(\frac{1}{y} + y\right) dy = 0$$

$$\ln x + x + \ln y + y = C$$

$$x + y + \ln xy = C$$

(viii) $\frac{dy}{dx} + \frac{\sqrt{1+y^2}}{\sqrt{1-x^2}} = 0$

$$\frac{dy}{dx} = -\frac{\sqrt{1+y^2}}{\sqrt{1-x^2}}$$

$$\text{or } \int \frac{dy}{\sqrt{1+y^2}} = -\int \frac{dx}{\sqrt{1-x^2}}$$

$$\sin^{-1} y = -\sin^{-1} x + C$$

$$\frac{dy}{dx} + \frac{\sqrt{y^2-1}}{x^2-1} = 0$$

$$\frac{dy}{dx} = -\frac{\sqrt{y^2-1}}{x^2-1}$$

$$\int \frac{dy}{\sqrt{y^2-1}} = -\int \frac{dx}{\sqrt{x^2-1}}$$

$$\cosh^{-1} y = -\cosh^{-1} x + C$$

$$y = \cosh(C - \cosh^{-1} x)$$

Exercise 9-3

Solve 1:-

$$(x-y)dx + x+y dy = 0$$
$$(x+y)dy = -(x-y)dx$$

$$\frac{dy}{dx} = \frac{y-x}{x+y} \quad \text{H.O.E. ①}$$

Put $y = vx$ ②

$$\frac{dy}{dx} = v + x \frac{dv}{dx}$$

using ① (iii) in (i)

$$v + x \frac{dv}{dx} = \frac{vx-x}{x+vx}$$

$$x \frac{dv}{dx} = \frac{x(v-1)}{x(1+v)} - v$$

$$x \frac{dv}{dx} = \frac{x-1-x-v^2}{x+v}$$

$$= \frac{-(v^2+1)}{1+v}$$

$$\int \frac{v+1}{v^2+1} dv = -\int \frac{dx}{x}$$

$$\frac{1}{2} \int \frac{2vdv}{v^2+1} + \int \frac{dv}{v^2+1} = -\int \frac{dx}{x}$$

$$\frac{1}{2} \ln(v^2+1) + \tan^{-1} v = -\ln x + C$$

$$\ln(v^2+1)^{1/2} + \tan^{-1} v + \ln x = C$$

$$\ln \sqrt{\frac{y^2}{x^2} + 1} + \tan^{-1} \left(\frac{y}{x}\right) + \ln x = C$$

$$\ln \sqrt{y^2+x} - \ln \sqrt{x^2} + \tan^{-1} \left(\frac{y}{x}\right) + \ln x = C$$

$$\ln \sqrt{y^2+x} + \tan^{-1} \left(\frac{y}{x}\right) = C$$



Solve (ii)

$$(y^2 + 2xy) dx + x^2 dy = 0$$

$$x^2 dy = -(y^2 + 2xy) dx$$

$$\frac{dy}{dx} = -\frac{(y^2 + 2xy)}{x^2} \quad \text{H. DE ①}$$

Put $y = vx$ ②

$$\frac{dy}{dx} = v + x \frac{dv}{dx} \quad \text{③}$$

using (ii) + (iii) in (i)

$$v + x \frac{dv}{dx} = -\frac{(v^2 x^2 + 2xvx)}{x^2}$$

$$x \frac{dv}{dx} = -\frac{x^2(v^2 + 2v) - v}{x^2}$$

$$x \frac{dv}{dx} = -\frac{(v^2 + 2v)}{x}$$

$$\int \frac{dv}{v^2 + 2v} = -\int \frac{dx}{x}$$

$$\int \frac{1}{v(v+2)} dv = -\int \frac{dx}{x}$$

$$\frac{1}{3} \int \frac{3}{v(v+2)} dv = -\int \frac{dx}{x}$$

$$\frac{1}{3} \int \frac{v+2-v}{v(v+2)} dv = -\int \frac{dx}{x}$$

$$\frac{1}{3} \int \frac{1}{v} + \int \frac{1}{v+2} = -\int \frac{dx}{x}$$

$$\frac{1}{3} \ln v + \frac{1}{3} \ln(v+2) = -\ln x + \ln C$$

$$\ln \left[\frac{v^{1/3}}{(v+2)^{1/3}} \right] = \ln \frac{C}{x}$$

Putting

$$\frac{v^{1/3}}{(v+3)^{1/3}} = \frac{c}{x}$$

$$x \cdot v^{1/3} = c(v+3)^{1/3}$$

$$x \cdot \left(\frac{y}{x}\right)^{1/3} = c\left(\frac{y}{x}+3\right)^{1/3}$$

$$x \cdot \frac{y^{1/3}}{x^{1/3}} \cdot x^{1/3} = c(y+3x)^{1/3}$$

$$x y^{1/3} = c(y+3x)^{1/3}$$

$$x^3 y = c^3 (y+3x)$$

Solve (iii)

$$(x^2 - 3y)dx + 3xydy = 0$$

$$2xydy = -(x^2 - 3y^2)dx$$

$$\frac{dy}{dx} = \frac{3y^2 - x^2}{2xy} \text{ H.D.E (i)}$$

Put $y = vx$ (ii)

$$\frac{dy}{dx} = v + x \frac{dv}{dx}$$

using (ii) + (i) in (i)

$$v + x \frac{dv}{dx} = \frac{3v^2x^2 - x^2}{2xvx}$$

$$x \frac{dv}{dx} = \frac{(3v^2 - 1)x^2}{2vx^2} - v$$

$$x \frac{dv}{dx} = \frac{3v^2 - 1 - 2v^2}{2v}$$

$$\int \frac{2v}{v^2 - 1} dv = \int \frac{dx}{x}$$

$$\ln(v^2 - 1) = \ln x + \ln c$$

Solve (iv)

$$(x^2 + 3y^2) dx - 2xy dy = 0$$

$$x^2 + 3y^2 dx = 2xy dy$$

$$\frac{x^2 + 3y^2}{2xy} = \frac{dy}{dx} \quad \text{H.D.E.} \quad \text{--- (1)}$$

$$\text{Put } y = vx \quad \text{--- (2)}$$

$$\frac{dy}{dx} = v + x \frac{dv}{dx} \quad \text{--- (3)}$$

using (ii) (iii) in (i)

$$v + x \frac{dv}{dx} = \frac{x^2 + 3v^2 x^2}{2xvx}$$

$$x \frac{dv}{dx} = \frac{x^2(1+3v^2)}{x^2 2v} \quad \checkmark$$

$$x \frac{dv}{dx} = \frac{1+3v^2-2v^2}{2v}$$

$$x \frac{dv}{dx} = \frac{1+v^2}{2v}$$

$$\int \frac{2v}{1+v^2} dv = \int \frac{dx}{x}$$

$$\ln(1+v^2) = \ln x + \ln c$$

$$\ln(1+v^2) = \ln cx$$

$$\left(1 + \frac{y^2}{x^2}\right) = cx$$

$$\frac{x^2 + y^2}{x^2} = cx$$

$$x^2 + y^2 = (cx)x$$

Solve (v)

$$(x^2 + 2xy + y^2) dx - x^2 dy = 0$$

$$(x^2 + 2xy + y^2) dx = x^2 dy$$

$$\frac{dy}{dx} = \frac{x^2 + 2xy + y^2}{x^2} \text{ H.P.E } \textcircled{1}$$

$$\text{Put } y = vx \text{ } \textcircled{2}$$

$$\frac{dy}{dx} = v + x \frac{dv}{dx} \text{ } \textcircled{3}$$

using (ii), (iii) in (i)

$$v + x \frac{dv}{dx} = \frac{x^2 + 2x(vx) + v^2x^2}{x^2}$$

$$x \frac{dv}{dx} = \frac{(1 + 2v + v^2)x^2}{x^2} - v$$

$$\int \frac{dv}{(1+v)^2} = \int \frac{dx}{x}$$

$$\tan^{-1} v = \ln x + C$$

$$\tan^{-1} \left(\frac{y}{x} \right) = \ln x + C$$

Solve (vi)

$$(x^2 + 3xy + y^2) dx - x^2 dy = 0$$

$$(x^2 + 3xy + y^2) dx = x^2 dy$$

$$\frac{dy}{dx} = \frac{x^2 + 3xy + y^2}{x^2} \text{ H.P.E } \textcircled{1}$$

$$\text{Put } y = vx \text{ } \textcircled{2}$$

$$\frac{dy}{dx} = v + x \frac{dv}{dx} \text{ } \textcircled{3}$$

using (ii), (iii) in (i)

$$v + x \frac{dv}{dx} = \frac{x^2 + 3xv + v^2}{x^2}$$

$$x \frac{dv}{dx} = \frac{x^2(1+3v+v^2)}{x^2} - v$$

$$x \frac{dv}{dx} = 1 + 2v + v^2$$

$$\int \frac{dv}{(1+v)^2} = \int \frac{dx}{x}$$

$$\frac{-1}{(v+1)} = \ln x + C$$

$$\frac{-1}{\frac{y}{x} + 1} = \ln x + C$$

$$\frac{-1}{\frac{y+x}{x}} = \ln x + C$$

$$\frac{-x}{x+y} = \ln x + C$$

← →
Solve (vii)

$$\frac{dy}{dx} = \frac{4y-3x}{2x-y} \quad \text{HDE (i)}$$

$$\text{Put } y = vx \quad \text{(ii)}$$

$$\frac{dy}{dx} = v + x \frac{dv}{dx} \quad \text{(iii)}$$

using (ii), (iii) in (i)

$$v + x \frac{dv}{dx} = \frac{4vx - 3x}{2x - vx}$$

$$x \frac{dv}{dx} = \frac{x(4v-3)}{x(2-v)} - v$$

$$x \frac{dv}{dx} = \frac{4v-3-2v+v^2}{2-v}$$

$$\int \frac{2-v}{v^2+2v-3} dv = \int \frac{dx}{x^2} \quad \text{--- (iv)}$$

By Partial Fraction

$$\frac{2-v}{(v+3)(v-1)} = \frac{A}{v+3} + \frac{B}{v-1}$$

$$2-v = A(v-1) + B(v+3)$$

$$\text{Put } v+3=0 \Rightarrow +3 = -4A \Rightarrow \boxed{A = -\frac{3}{4}}$$

$$\text{Put } v-1=0 \Rightarrow +1 = 4B \Rightarrow \boxed{B = \frac{1}{4}}$$

$$\frac{2-v}{(v+3)(v-1)} = \frac{-3}{4(v+3)} + \frac{1}{4(v-1)}$$

Form (iv)

$$-\frac{3}{4} \int \frac{dv}{v+3} + \frac{1}{4} \int \frac{dv}{v-1} = \int \frac{dx}{x^2}$$

$$-\frac{3}{4} \ln(v+3) + \frac{1}{4} \ln(v-1) = \ln x + \ln c$$

$$-\ln(v+3)^5 + \ln(v-1) = 4 \ln x + \ln c$$

$$\ln \frac{v-1}{(v+3)^5} = \ln c^4 x^4$$

Putting

$$\frac{\left(\frac{y}{x} - 1\right)}{\left(\frac{y}{x} + 3\right)^5} = c^4 x^4$$

$$\frac{y-x}{(y+3x)^5} = c' \quad \text{Ans}$$

Solve (viii)

$$x \sin\left(\frac{y}{x}\right) dy = \left(y \sin\frac{y}{x} - x\right) dx$$

$$\frac{dy}{dx} = \frac{y \sin\frac{y}{x} - x}{x \sin\left(\frac{y}{x}\right)} \quad \text{H.D.E } \textcircled{1}$$

$$\text{Put } y = vx \quad \textcircled{2}$$

$$\frac{dy}{dx} = v + x \frac{dv}{dx} \quad \textcircled{3}$$

using (ii) (iii) in (i)

$$v + x \frac{dv}{dx} = \frac{vx \sin\frac{vx}{x} - x}{x \sin\frac{vx}{x}}$$

$$\frac{x dv}{dx} = \frac{x(v \sin v - 1)}{x \sin v} - v$$

$$\frac{x dv}{dx} = \frac{v \sin v - 1}{\sin v} - v$$

$$\int \sin v dv = \int -\frac{dx}{x}$$

$$-\cos v = -\ln x + C$$

$$\cos v = \ln x + C$$

$$\cos v = \ln x - C$$

$$\cos\frac{y}{x} = \ln x - C \quad \text{Ans}$$

Exercise 9.4

Solve ii:

$$(3x^2 + 4xy)dx + (2x^2 + 2y)dy = 0$$

$$M = 3x^2 + 4xy, \quad N = 2x^2 + 2y$$

$$\frac{\partial M}{\partial y} = 0 + 4x \quad \frac{\partial N}{\partial x} = 4x + 0$$

$$\frac{\partial M}{\partial y} = \frac{\partial N}{\partial x}$$

Now ~~$\int M dx + \int$~~

$$\int (3x^2 + 4xy)dx + \int 2y dy = C$$

$$3 \frac{x^3}{3} + \frac{4x^2 y}{2} + \frac{2y^2}{2} = C$$

$$x^3 + 2x^2 y + y^2 = C$$

Solve iiv

$$(2xy + y - \tan y)dx + (x^2 - x \tan^2 y + \sec^2 y)dy = 0$$

$$M = 2xy + y - \tan y, \quad N = x^2 - x \tan^2 y + \sec^2 y$$

$$\frac{\partial M}{\partial y} = 2x + 1 - \sec^2 y \quad \frac{\partial N}{\partial x} = 2x - \tan^2 y + 0$$

$$= 2x - \tan^2 y$$

$$\therefore \frac{\partial M}{\partial y} = \frac{\partial N}{\partial x}$$

$$\int (2xy + y - \tan y)dx + \int \sec^2 y dy = C$$

$$\frac{2x^2 y}{2} + xy - x \tan y + \tan y = C$$

$$x^2 y + xy - x \tan y + \tan y = C$$



Solve 3: $(\frac{x+y}{y-1})dx - \frac{1}{2}(\frac{x+1}{y-1})^2 dy = 0$

$$M = \frac{x+y}{y-1} \quad N = -\frac{1}{2}\left(\frac{x+1}{y-1}\right)^2$$

$$\frac{\partial M}{\partial y} = \frac{(y-1)(1) - (x+y)(1)}{(y-1)^2} \quad \frac{\partial N}{\partial x} = \frac{-(2x+2)}{2(y-1)^2}$$

$$\frac{y-1-x-y}{(y-1)^2} = \frac{-x-1}{(y-1)^2}$$

$$\frac{\partial M}{\partial y} = \frac{\partial N}{\partial x}$$

$$\int \left(\frac{x+y}{y-1}\right) dx + \int \frac{-1}{2(y-1)^2} dy = C$$

$$\left(\frac{1}{y-1}\right) \int (x+y) dx + \left(\frac{-1}{2}\right) \int (y-1)^{-2} dy = C$$

$$\left(\frac{1}{y-1}\right) \left(\frac{x^2}{2} + xy\right) + \left(\frac{-1}{2}\right) \left(\frac{-1}{y-1}\right) = C$$

$$\frac{x^2 + 2xy}{2(y-1)} + \frac{1}{2(y-1)} = C$$

$$x^2 + 2xy + 1 = C'(y-1) \text{ Ans}$$

Solve 4: $\frac{dy}{dx} = \frac{(ax+by)}{hx+by}$

$$(hx+by)dy = (ax+by)dx$$

$$(ax+by)dx + (hx+by)dy = 0$$

$$M = ax+by \quad N = hx+by$$

$$\frac{\partial M}{\partial y} = 0+h \quad \frac{\partial N}{\partial x} = h$$

$$\frac{\partial M}{\partial y} = \frac{\partial N}{\partial x}$$

$$\int (ax+by) dx + \int b dy = C$$

$$a \frac{x^2}{2} + hxy + \frac{by^2}{2} = C$$

$$ax^2 + 2hxy + by^2 = C'$$

Solve 5 $(1 + \ln xy) dx + (1 + \frac{x}{y}) dy = 0$

$$M = 1 + \ln xy \quad N = 1 + \frac{x}{y}$$

$$\frac{\partial M}{\partial y} = 0 + \frac{1}{xy} \cdot x \quad \frac{\partial N}{\partial x} = 0 + \frac{1}{y}$$

$$\frac{\partial M}{\partial y} = \frac{\partial N}{\partial x}$$

$$\int (1 + \ln xy) dx + \int 1 \cdot dy = C$$

$$\int dx + \int 1 \cdot \ln xy dx + \int dy = C$$

$$x + \int \ln xy \cdot (x) - \left[\frac{1}{xy} \cdot y \cdot x dx \right] + y = C$$

$$x + x \ln xy - \int dx + y = C$$

$$x + x \ln xy - x + y$$

$$x \ln xy + y = C$$

Solve 6: $\frac{y dx + x dy}{1 - x^2 y^2} + x dx = 0$

$$\frac{y dx}{1 - x^2 y^2} + \frac{x dy}{1 - x^2 y^2} + x dx = 0$$

$$\left(x + \frac{y}{1 - x^2 y^2}\right) dx + \frac{x dy}{1 - x^2 y^2} = 0$$

$$M = x + \frac{y}{1 - x^2 y^2}$$

$$0 + (1 - x^2 y^2) \cdot 1 - y(-2x^2 y) = \frac{1 - x^2 y^2 + 2x^2 y^2}{(1 - x^2 y^2)^2}$$

$$\frac{1 - x^2 y^2 + 2x^2 y^2}{(1 - x^2 y^2)^2} = \frac{1 + x^2 y^2}{(1 - x^2 y^2)^2}$$

~~*~~

$$N = \frac{x}{1-x^2y^2}$$

$$\frac{\partial N}{\partial x} = \frac{(1-x^2y^2) \cdot 1 - x(-2xy^2)}{(1-x^2y^2)^2}$$

$$\frac{1-x^2y^2+2x^2y^2}{(1-x^2y^2)^2} = \frac{1+x^2y^2}{(1-x^2y^2)^2}$$

$$\frac{\partial M}{\partial y} = \frac{\partial N}{\partial x}$$

$$\int \left(x + \frac{y}{1-x^2y^2} \right) dx + M dy = C$$

$$\int x dx + \int \frac{y dx}{1-x^2y^2} = C$$

$$\frac{x^2}{2} + \int \frac{y/y^2}{1/y^2 - x^2y^2} dx = C$$

$$\frac{x^2}{2} + \frac{1}{y} \int \frac{dx}{\left(\frac{1}{y}\right)^2 - x^2} = C$$

$$\frac{x^2}{2} + \frac{1}{y} \left[\frac{1}{2\left(\frac{1}{y}\right)} \ln \left| \frac{\frac{1}{y} + x}{\frac{1}{y} - x} \right| \right] = C$$

$$\frac{x^2}{2} + \frac{1}{2} \ln \left| \frac{1+xy}{1-xy} \right| = C$$

$$x^2 + \ln \left| \frac{1+xy}{1-xy} \right| = C'$$

Solve 7:- $(6xy + 2y^2 - 5)dx + (3x^2 + 4xy - 6)dy = 0$

$$M = 6xy + 2y^2 - 5, N = 3x^2 + 4xy - 6$$

$$\frac{\partial M}{\partial y} = 6x + 4y, \frac{\partial N}{\partial x} = 6x + 4y$$

$$\frac{\partial M}{\partial y} = \frac{\partial N}{\partial x}$$

$$\int (6xy + 2y^2 - 5)dx + \int -6dy = C$$

$$\frac{6x^2y}{2} + 2xy^2 - 5x - 6y = C$$

$$3x^2y + 2xy^2 - 5x - 6y = C$$

Solve 8:-

$$(y \sec^2 x + \sec x \tan x) dx + (\tan x + 2y) dy = 0$$

$$M = y \sec^2 x + \sec x \tan x, \quad N = \tan x + 2y$$

$$\frac{\partial M}{\partial y} = \sec^2 x \quad \frac{\partial N}{\partial x} = \sec^2 x$$

$$\frac{\partial M}{\partial y} = \frac{\partial N}{\partial x}$$

$$\int (y \sec^2 x + \sec x \tan x) dx + \int 2y dy = C$$

$$y \tan x + \sec x + y^2 = C$$

Exercise 9.5

Solve 1:-

$$(xy^2 + y) dx - x dy = 0 \quad \text{--- (1)}$$

$$M = xy^2 + y \quad N = -x$$

$$M_y = 2xy + 1 \quad N_x = -1$$

$$M_y \neq N_x$$

$$\frac{M_y - N_x}{N} = \frac{2xy + 1 + 1}{-x}$$

$$\frac{N_x - M_y}{M} = \frac{-1 - 2xy - 1}{xy^2 + y}$$

$$= \frac{-2(1 + xy)}{y(xy + 1)} = -\frac{2}{y}$$

$$\therefore I.F. = e^{\int \frac{-2}{y} dy} = e^{-2 \ln y} = e^{\ln y^{-2}} = y^{-2} = \frac{1}{y^2}$$

Multiply both side of eqn by $IF = \frac{1}{y^2}$

$$\frac{1}{y^2} (x \cdot y^2 + y) dx - \frac{x}{y^2} dy = 0$$

$$(x + \frac{1}{y}) dx - \frac{x}{y^2} dy = 0 \quad \text{--- (ii)}$$

$$\text{Now } M = x + \frac{1}{y} \quad N = -\frac{x}{y^2}$$

$$M_y = -\frac{1}{y^2} \quad N_x = -\frac{1}{y^2}$$

$$M_y = N_x$$

$$\int (x + \frac{1}{y}) dx + Nil = C$$

$$\frac{x^2}{2} + \frac{x}{y} = C$$

Solve 3 $(x^2 + x - y) dx + x dy = 0$ --- i

$$M = x^2 + x - y \quad N = x$$

$$M_y = -1 \quad N_x = 1$$

$$M_y \neq N_x$$

$$\frac{M_y - N_x}{N} = \frac{-1 - 1}{x} = \frac{-2}{x}$$

$$IF = e^{\int \frac{-2}{x} dx} = -2 \ln x = \ln x^{-2} = \frac{1}{x^2}$$

$$\frac{1}{x^2} (x^2 + x - y) dx + \frac{x}{x^2} dy = 0$$

$$(1 + \frac{1}{x} - \frac{y}{x^2}) dx + \frac{1}{x} dy = 0 \quad \text{--- (ii)}$$

$$\text{Now } M = 1 + \frac{1}{x} - \frac{y}{x^2} \quad N = \frac{1}{x}$$

$$M_y = -\frac{1}{x^2} = N_x = -\frac{1}{x^2}$$

$$M_y = N_x$$

$$\int (1 + \frac{1}{x} - \frac{y}{x^2}) dx + Nil = C$$

$$x + \ln x - \frac{y}{x} = C$$

Solve 4:-

$$dy + (y - \frac{\sin x}{x}) dx = 0 \quad \text{--- (i)}$$

$$M = y - \frac{\sin x}{x} \quad N = 1$$

$$M_y = \frac{1}{x} - 0 \quad N_x = 0$$

$$M_y \neq N_x$$

$$\frac{M_y - N_x}{N} = \frac{\frac{1}{x} - 0}{1} = \frac{1}{x}$$

$$I.f = e^{\int \frac{1}{x} dx} = e^{\ln x} = x$$

$$x dy + x(y - \frac{\sin x}{x}) dx = 0 \quad \text{--- (ii)}$$

$$M = y - \frac{\sin x}{x} \quad N = x$$

$$M_y = 1 \quad N_x = 1$$

$$M_y = N_x$$

$$\int (y - \frac{\sin x}{x}) = C$$

$$xy + \cos x = C$$

Solve 5:-

$$y(2xy + e^x) dx - e^x dy = 0$$

$$(2xy^2 + e^x y) dx - e^x dy = 0 \quad \text{--- (i)}$$

$$M = 2xy^2 + e^x y \quad N = -e^x$$

$$M_y = 4xy + e^x \quad N_x = -e^x$$

$$M_y \neq N_x$$

$$\frac{M_y - N_x}{N} = \frac{4xy + e^x + e^x}{-e^x}$$

$$\frac{N_x - M_y}{M} = \frac{-e^x - 4xy - e^x}{2xy^2 + ye^x} = \frac{-2e^x - 4xy}{y(2xy + e^x)}$$

$$= \frac{-2(e^x + 2xy)}{y(2xy + e^x)} = \frac{-2}{y}$$

$$df = e^{\int \frac{-2}{y} dy} = e^{-2 \ln y} = e^{\ln y^{-2}} = y^{-2} = \boxed{\frac{1}{y^2}}$$

$$\frac{1}{y^2} (2xy^2 + e^x y) dx - \frac{1}{y^2} e^x dy = 0$$

$$(2x + \frac{e^x}{y}) dx - \frac{e^x}{y^2} dy = 0 \quad \text{(ii)}$$

$$M = 2x + \frac{e^x}{y} \quad N = -\frac{e^x}{y^2}$$

$$M_y = 0 + \left(-\frac{e^x}{y^2}\right) \quad N_x = -\frac{e^x}{y^2}$$

$$M_y = N_x$$

$$\int (2x + \frac{e^x}{y}) dx + N_1 dy = c$$

$$x^2 + \frac{e^x}{y} = c$$

Q. solve 6:-

$$(y^4 + 2y) dx + (xy^3 + 2y^4 - 4x) dy = 0$$

$$M = y^4 + 2y \quad N = xy^3 + 2y^4 - 4x$$

$$M_y = 4y^3 + 2 \quad N_x = y^3 - 4$$

$M_y \neq N_x \therefore$ (i) is Non Exact Diff eqn

$$\frac{M_x - M_y}{M} = \frac{y^3 - 4 - 4y^3 - 2}{y^4 + 2y} = \frac{-3y^3 - 6}{y(y^3 + 2)}$$

$$= -\frac{3}{y}$$

$$\int \frac{-3}{y} dy = -3 \ln y = e^{\ln y^{-3}}$$

$$= e^{\ln y^{-3}} = y^{-3} = \boxed{\frac{1}{y^3}}$$

$$\frac{1}{y^3} (y^4 + 2y) dx + (x + 2y^4 - 4x) dy = 0$$

$$\text{Now } M = y + \frac{2}{y^2} \quad N = x + 2y - \frac{4x}{y^3}$$

$$M_y = 1 - \frac{4}{y^3} \quad N_x = 1 + 0 - \frac{4}{y^3}$$

$$M_y = N_x$$

$$\int (y + \frac{2}{y^2}) dx + \int 2y dy = C$$

$$xy + \frac{2x}{y^2} + 2y^2 = C$$

$$xy + \frac{2x}{y^2} + 2y^2 = C$$

Solve 7 :-

$$(x^2 + y^2 + 2x) dx + 2y dy = 0 \quad \text{--- (i)}$$

$$M = x^2 + y^2 + 2x \quad N = 2y$$

$$M_y = 2y \quad N_x = 0$$

$M_y \neq N_x \therefore$ (i) is No Exact Diff

$$\frac{M_y - N_x}{N} = \frac{2y - 0}{2y} = 1 = x^0$$

$$I.F. = e^{\int 1 \cdot dx} = e^x$$

Multiply both side of eqn (i) by
I.F. = e^x

$$e^x (x^2 + y^2 + 2x) dx + e^x (2y) dy = 0 \quad \text{--- (ii)}$$

$$M = e^x (x^2 + y^2 + 2x) dx + N dy = C$$

$$\int x^2 e^x - \int 2x e^{2x} dx + e^x \int 2y dy = C$$

$$(x^2 + y^2) e^x = C$$

Exercise 9.6

Solve 1

$$\frac{dy}{dx} + \left(\frac{2x+1}{x}\right)y = e^{-2x}$$

$$\text{IF} = e^{\int P(x) dx} = e^{\int \frac{2x+1}{x} dx} = e^{\int \left(2 + \frac{1}{x}\right) dx}$$
$$= e^{2x + \ln x} = e^{2x} \cdot e^{\ln x} = e^{2x} \cdot x$$

$$\Rightarrow \int d(ye^{2x} \cdot x) = \int x dx + C$$

$$xye^{2x} = \frac{x^2}{2} + C$$

Solve 2

$$\frac{dy}{dx} + \frac{3}{x}y = 6x^2$$

$$\text{IF} = e^{\int P(x) dx} = e^{\int \frac{3}{x} dx} = e^{3 \ln x} = e^{\ln x^3} = x^3$$

Solve is given by $\int d(y \cdot I.F.) = \int Q(x) \cdot I.F. dx + C$

$$\Rightarrow \int d(yx^3) = \int 6x^2 \cdot x^3 dx + C$$

$$\Rightarrow yx^3 = \int 6x^5 dx + C$$

$$yx^3 = \frac{6x^6}{6} + C$$

$$x^3y = x^6 + C$$

Solve 3 $\frac{dy}{dx} + \frac{y}{x \ln x} = \frac{3x^2}{\ln x}$

$$I.f = e^{\int P dx} = e^{\int \frac{1}{x \ln x} dx} = e^{\int \frac{dx}{x \ln x}}$$

$$I.f = e^{\ln(\ln x)} = \ln x$$

Solve is given $\int d(y \times I.f) = \int Q \times I.f dx + C$

$$\int d(x \ln x) = \int \frac{3x^2}{\ln x} \ln x dx + C$$

$$y \ln x = \frac{3x^3}{3} + C$$

$$y = \frac{x^3}{\ln x} + C$$

Solve 4 $\frac{dy}{dx} + 3y = 3x^2 e^{-3x}$

$$I.f = e^{\int P dx} = e^{\int 3 dx} = e^{3x}$$

Solve is given $\int d(y \times I.f) = \int Q \times I.f dx + C$

$$\Rightarrow \int d(y e^{3x}) = \int 3x^2 e^{-3x} e^{3x} dx + C$$

$$y e^{3x} = x^3 + C$$

$$y = e^{-3x} (x^3 + C)$$

Solve 5: $\cos^3 x \frac{dy}{dx} + y \cos x = \sin x$

$$\frac{dy}{dx} + \frac{y \cos x}{\cos^3 x} = \frac{\sin x}{\cos^3 x}$$

$$\frac{dy}{dx} + \sec^2 x y = \sec^2 x \tan x$$

$$I.f = e^{\int P dx} = e^{\int \sec^2 x dx} = e^{\tan x}$$

Sol is given by $\int d(y \times I.f) = \int Q \times I.f dx + C$

$$\Rightarrow \int d(y \times e^{\tan x}) = \int \sec^2 x \tan x e^{\tan x} dx + C$$

$$\Rightarrow y e^{\tan x} = \int e^t t dt + C \quad \begin{array}{l} \tan x = t \\ \sec^2 x = dt \end{array}$$

$$= t e^t - \int 1 \cdot e^t dt + C$$

$$= t e^t - e^t + C$$

$$y e^{\tan x} = e^t (t - 1) + C$$

$$y e^{\tan x} = e^{\tan x} (\tan x - 1) + C$$

$$y = (\tan x - 1) + C e^{-\tan x}$$

Solve 6 :- $x \frac{dy}{dx} + (1 + x \cot x) y = x$

$$\frac{dy}{dx} + \left(\frac{1}{x} + \cot x\right) y = 1$$

$$I.f = e^{\int P dx} = e^{\int \left(\frac{1}{x} + \cot x\right) dx} = e^{\ln x + \ln \sin x}$$

$$I.f = e^{\ln(x \sin x)} = x \sin x$$

Sol is given by $\int d(y \times I.f) = \int Q \times I.f dx + C$

$$\Rightarrow \int d(y \times x \sin x) = \int x \sin x dx + C$$

$$y \times x \sin x = x(-\cos x) - \int 1 \cdot (-\cos x) dx$$

$$= x(-\cos x) + \int \cos x dx$$

$$y \times x \sin x = -x \cos x + \sin x + C$$

$$y = -\cot x + \frac{1}{x} + \frac{e}{x} \operatorname{cosec} x$$

$$\text{Solve 7: } (x+1) \frac{dy}{dx} - ny = e^x (x+1)^{n+1}$$

$$\frac{dy}{dx} - \frac{n}{(x+1)} y = e^x (x+1)^n$$

$$\text{I.F.} = e^{\int P dx} = e^{\int \frac{-n}{x+1} dx} = e^{-n \ln(x+1)} = e^{\ln(x+1)^{-n}}$$

$$\text{I.F.} = (x+1)^{-n} = \boxed{\frac{1}{(x+1)^n}}$$

$$\text{Solve is given by } \int d(Y \times \text{I.F.}) = \int Q \times \text{I.F.} dx + C$$

$$\Rightarrow \int d\left(y \cdot \frac{1}{(x+1)^n}\right) = \int e^x (x+1)^n \cdot \frac{1}{(x+1)^n} dx + C$$

$$\frac{y}{(x+1)^n} = e^x + C$$

$$y = (e^x + C)(x+1)^n \text{ Ans}$$

$$\text{Solve 8 } (x^2+1) \frac{dy}{dx} + 2xy = 4x^2$$

$$\frac{dy}{dx} + \left(\frac{2x}{x^2+1}\right) y = \frac{4x^2}{x^2+1}$$

$$\text{I.F. } e^{\int \left(\frac{2x}{x^2+1}\right) dx} = e^{\ln(x^2+1)} = (x^2+1)$$

$$\Rightarrow \int d(y(x^2+1)) = \int \frac{4x^2}{(x^2+1)} (x^2+1) dx + C$$

$$y(x^2+1) = \frac{4x^3}{3} + C$$

$$3y(x^2+1) = 4x^3 + C'$$